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g2 194,740 154,387 40,353
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Azad2d 33,123 34,130 A 1,007
201 L Er2A | 15,808 16,640 A 832
01 At 22l bl 6,498 6,840 A 342
O Et=ZH| 6,498 6,840 A 342
— JIESIHE 2 & 1,658,000& 1,658 2,000 N 342
02 =24l 9,310 9,800 A 490
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SN BRBENB
HE: QUC ALY
S PHDSTRIURY EERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
— H203 2 238 2o
A 1,900,0002 1,900 2,000 A100
03 A2 bl 5,760 6,400 £640
O SNl 2 #i 4,560 5,200 A640
- Mgzl 29 A 1,860,000% 1,860 2,500 A640
301 LB A2 5,650 5,700 AS0
10 BAFAIEI 24 3 450 500 A50
O SHHLHE MM b
AE 450,0008 450 500 A0
e THE 29 65,837 62,837 3,000
2 27,600 27,600 0
2 38,237 35,237 3,000
NAZMN o35 X8 8,600 5,600 3,000
301 LBt A2 8,600 5,600 3,000
10 #AAIHI 24 2 8,600 5,600 3,000
O NYZAK EZZAN At
A3 8,000,0002! 8,000 5,000 3,000
BHSABH (FTZEHB) 76,525 80,378 £3,853
IS B (FRZEAB) 76,525 80,378 ~3,853
ISP (ARZE M) 76,525 80,378 ~3,853
201 YLEr2 A H| 67,629 71,188 ~3,559
01 AL 22l bl 33,011 34,748 ~1,737
O 2g4+g 22,263 24,000 A1,737
- o = A 16,263,008 16,263 18,000 A1,737
02 23Sl 34,618 36,440 A1,822
O 2. detyl 1,608 3,430 A1,822
- RAN2Y BUNY 233 1,608,000 1,608 3,430 A1,822
202 044l 5,576 5,870 A 294
01 2Lhol8l 5,576 5,870 294
O RNSY S 3 5,576,002 5,576 5,870 ~294




